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STATISTICS

1. Consider the following data 4,7,8,9,10,12,13,17.
(i) Find the mean

(ii) Find the mean deviation about the mean.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SrXZWFTwo1m9
https://dl.doubtnut.com/l/_g71OY6qdAPO0

2. Find the mean deviation about the median for the data

13, 17,16,14,11,13,10,16,11,18,12,17.

o Watch Video Solution

3. Consider following data 35,32,36,34,41,45,28,50,49
| . Find the median

(ii) Find the mean deviation from the median.

o Watch Video Solution

4. Consider the following frequency table .

x 15 [2s 35 [ as | ss| e 5] s
/ 3 I [ 1 | s 7| | 9| 3



https://dl.doubtnut.com/l/_g71OY6qdAPO0
https://dl.doubtnut.com/l/_JLwZICSUMufh
https://dl.doubtnut.com/l/_O3Rd6cB9gI4v

(i) Find the mean

(ii) Find the mean deviation about the mean.

o Watch Video Solution

5. Find the mean deviation about the median for the data

X 3 7 9 w | 12 | 15

) L 2 2 6

o Watch Video Solution

6. Find the mean deviation about the median for the data

x 15 21 27 ]L‘II 35
7 3 5 6 1] 8

-

(i) Find median.

(ii) Hence find mean deviation from the median.


https://dl.doubtnut.com/l/_O3Rd6cB9gI4v
https://dl.doubtnut.com/l/_Mml4rklQ25IA
https://dl.doubtnut.com/l/_CwGCNFhZshuD

o Watch Video Solution

7. A public opinion polling agency surveyed 200
government empolyees . The following table shows the

ages of the empolyees interviewed.

| Age | Number of employees |
21-28 20

26 - 30 30

31-35 40

36 - 40 50

41 - 45 30

46 - 50 20
[ 51-55 | 10

(i) Calculate the mean age of empolyees interviewed.

(i) Compute the mean deviation of the ages about the

mean age.

& l


https://dl.doubtnut.com/l/_CwGCNFhZshuD
https://dl.doubtnut.com/l/_T2Fb81hbQ5Wo

| ' Vvvatcn video o>oilution J

8. Find the mean deviation about the mean for the data

Income | 0-100]100-200]200-300] 300-400 | 400-500|500-600| 600-700] 700-800
per day

MNumber 4 8 9 10 7 5 -+ 3

of persons

o Watch Video Solution

9. Find the mean deviation about median for the following

data
iM-d:s I_ 0-10 | _to._—m-jﬂ]' 30-40 | 40-50 Sﬂ-&ﬂf
Number of 6 8 14 I 16 l l 1
m ———— PR S - —— ——

o Watch Video Solution



https://dl.doubtnut.com/l/_T2Fb81hbQ5Wo
https://dl.doubtnut.com/l/_FD1tvbsRBRc5
https://dl.doubtnut.com/l/_01JV6WgTs2Ou

10. Find the mean , variance and standard deviation for the

frequency distribution.

° Watch Video Solution

11. Find the mean and standard deviation for the following

data.

X 92 9 o 98 oz | 4 | e |

L

i

o Watch Video Solution



https://dl.doubtnut.com/l/_UyGRyMDr7F8n
https://dl.doubtnut.com/l/_eEDZnwI6IFtI

12. Find the mean and variance for the frequency

distribution.
Class | 0-10 | 10-20 20-30 | 3040 _lmﬂ ]
Frequency 5 | 8 15 16 I 6 |

° Watch Video Solution

13. From the following frequency distribution

[x, |8 [u [17 20 |25 30 35|
L& 2 (3 |4 I 5 7 3 ]

(i) Find mean.

(ii) Calculate variance and standard deviation.

o Watch Video Solution



https://dl.doubtnut.com/l/_WUB9MituCjpp
https://dl.doubtnut.com/l/_Lvx1WWvWVG5l

14. The following data marks of 60 students . Find mean ,

variance and S.D.

[ Marks | 20-30[ 30-40] 40-50 | 50-60 | 60-70 | 70-80 | 80-90
| Noofstudents] 3 | 6 | 13 | 15 | 14| 5 | 4

o Watch Video Solution

15. The mean and standard deviation of six observations are
8 and 4, respectively. If each observation is multiplied by 3,
find the new mean and new standard deviation of the

resulting observations

o Watch Video Solution



https://dl.doubtnut.com/l/_OA847aHyaQat
https://dl.doubtnut.com/l/_hkaJkzdBfiDW

16. The variance of 20 observations is 5. If each observation
is multiplied by 2, find the new variance of the resulting

observations.

o Watch Video Solution

17. The mean of 5 observations is 4.4 and their varience is
8.24 . If three of the observations are 1,2 and 6 , find the

other two observations.

o Watch Video Solution

18. If each of the observation z1, x, ..., ¢, is increased by

'a', where a is a negative or positive number, show that the


https://dl.doubtnut.com/l/_cjqfJnBeQmNY
https://dl.doubtnut.com/l/_Fh7iQbN08SoT
https://dl.doubtnut.com/l/_fK1t3ZLr7nti

variance remains unchanged.

o Watch Video Solution

19. The mean and standard deviation of 10 observations are
found to be 10 and 4 respectively. Later it was found that
one item is mistaken as 10 instead of 12. Find the correct

mean and standard deviation.

o Watch Video Solution

20. Find the mean and variance of first n natural numbers .

o Watch Video Solution



https://dl.doubtnut.com/l/_fK1t3ZLr7nti
https://dl.doubtnut.com/l/_kaWsO73RxfIZ
https://dl.doubtnut.com/l/_uvupLHQAEgkl

21. Find the coefficient of variation of the data

6,8,10,12,14,16,18,20,22,24

o Watch Video Solution

22. An analysis of monthly wages paid to workers in two
firms A and B, belonging to the same industry , gives the

following results.

- Firm A Firm B
No., of wage earners 586 648
Mean of monthly wages Rs.5253 Rs. 5253
Variance of the distribution | 100 121

(i) Which firm A or B pays out larger amount as monthly
wages?
(ii) Which firm A or B shows greater variability in individual

wages?


https://dl.doubtnut.com/l/_ZrKejEhLglxz
https://dl.doubtnut.com/l/_oASFUkMEscye

° Watch Video Solution

23. The mean and standard deviation of a group of 100
observations were found to be 20 and 3, respectively. Later
on it was found that three observations were incorrect,
which were recorded as 21, 21 and 18. Find the mean and
standard deviation if the incorrect observations are

omitted.

o Watch Video Solution

24. The following values are calculated with respect to the

wages of workers in two farms A and B.


https://dl.doubtnut.com/l/_oASFUkMEscye
https://dl.doubtnut.com/l/_bh8AdLupwNTh
https://dl.doubtnut.com/l/_1lexl1xZMzle

Particulars | FarmA | Farm B
No, of workers 100 120
Mean 200 20
Variance 4 9

(i) Find the coeffcient of variation of farm Aand farm B .
(i) Which farm shows more variability ?

(iii) Which farm shows more consistency?

o Watch Video Solution

25. Variance (02) and the coefficient of variation (CV) of

two distributions are given below.

g’ CV

Distribution | 441 60
Distribution Il 256 T0

(i) Compute the standard deviations of the given


https://dl.doubtnut.com/l/_1lexl1xZMzle
https://dl.doubtnut.com/l/_rBn18ssUr3u3

distributions.

(i) What are their means?

o Watch Video Solution

26. The sum and sum of squares corresponding to length x
(in cm) and weight y (in gm) of 50 plant products are given

below:

50 50 50 50
Y w; =212, x? =902.8, Y y; =261, » y? = 1457.6
1=1 1=1 1=1 1=1

Which is more varying, the length or weight?

o Watch Video Solution

27. The mean and variance of eight observations are 9 and

9.25 , respectively . If six of the observations are 6,7,10,12,12


https://dl.doubtnut.com/l/_rBn18ssUr3u3
https://dl.doubtnut.com/l/_0EQYCE0UfSyg
https://dl.doubtnut.com/l/_vFNFmlPhyakP

and 13, find the remaining two observations.

o Watch Video Solution

28. The mean and variance of 7 observations are 8 and 16
respectively . If five of the observations are 2,4,10,12,14, find

the remaining two observations.

o Watch Video Solution

29. The mean and standard deviation of 20 observations
are found to be 10 and 2, respectively. On rechecking, it was
found that an observation 8 was incorrect. Calculate the

correct mean and standard deviation in each of the


https://dl.doubtnut.com/l/_vFNFmlPhyakP
https://dl.doubtnut.com/l/_qkxj2AujL5MB
https://dl.doubtnut.com/l/_KwddpKuDIjtU

following cases:

(i) If wrong item is omitted. (ii) If it is replaced by 12.

o Watch Video Solution

30. The mean and standard deviation of maks obtained by

50 students of a class in three subjects Mathematics ,

Physics and Chemistry are given below:

Subject | Mathematics | Physics | Chemistry
Mean 42 2 409 )}
Standard | 12 15 20

deviation i

Which of the three subjects shows the highest variability in

marks and which the lowest?

o Watch Video Solution



https://dl.doubtnut.com/l/_KwddpKuDIjtU
https://dl.doubtnut.com/l/_t0HF2C6RzHnU

1. The A. M first 'n' natural numbers is

Answer:

o Watch Video Solution

70
2.The mean of 1,23 ..... nis 11 ,thenn =


https://dl.doubtnut.com/l/_GTMxkoL7OT3K
https://dl.doubtnut.com/l/_Lv05gdpKc9TA

A.10

C.12

D.13

Answer:

o Watch Video Solution

3. The weighted A . M of first 'n' natural numbers whose

weights are equal to the corresponding
1

1

1


https://dl.doubtnut.com/l/_Lv05gdpKc9TA
https://dl.doubtnut.com/l/_UBKK4WbVQyEA

1

Answer:

o Watch Video Solution

4. If the mean of T4+ 2,1+ 2,94+ 2,2+ 2,6+ x is 5,

then the mean of 13+x,12+x,8+x,5+x,2+X is

A7

B.15

C.8

D.6

Answer:



https://dl.doubtnut.com/l/_UBKK4WbVQyEA
https://dl.doubtnut.com/l/_aLiHmQjMmbPd

I & Watch Video Solution I

5.The AM of the squares of the first 'n' natural numbers is

o Watch Video Solution

6. If )?1, )?2 are the means of two distributions such that
fl < Y2 and X is mean of the combined distribution ,

then

>

AX <X,

ol

B.X > X,

X1+ X
2

0
o
I

D.X; < X < X,


https://dl.doubtnut.com/l/_aLiHmQjMmbPd
https://dl.doubtnut.com/l/_rFxYlWVOX8Z8
https://dl.doubtnut.com/l/_6MqpGswUAHfn

Answer:

o Watch Video Solution

7. A variable X is expressed as a linear function of two
variables u and v in the form X = au +bv.
Then the mean X of X is

A.au + bv

B.u+wv

C.bu + av

D.ab(@ + 9), (a + b)(@ + )

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_6MqpGswUAHfn
https://dl.doubtnut.com/l/_Wt3FWO5ceSxE

8. The mean of a set of numbers is x . If each number is

increased by A, the mean of the new set is

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Wt3FWO5ceSxE
https://dl.doubtnut.com/l/_iUYcYxrFofbM

9. The mean of a set of numbers is . If each observation is

divided by a (where a # 0) and then increased by 10, the

mean of the new set is

>
Q&

+ 10

81

8l

Qa
+ 10«
Qa

D.ax + 10

Answer:

o Watch Video Solution

10. The algebraic sum of the deviations from the mean is


https://dl.doubtnut.com/l/_X4A8vlQ7vAMF
https://dl.doubtnut.com/l/_NlySjuBxc3wM

A. maximum

B. zero

C. minimum

D. always positive

Answer:

o Watch Video Solution

1. The median of the series is 10 . Two additional

observations 7 and 20 is added to the series . The median

of the new series will be

A.9

B. 20


https://dl.doubtnut.com/l/_NlySjuBxc3wM
https://dl.doubtnut.com/l/_lSFdHyJPtyUm

C.7

D.10

Answer:

o Watch Video Solution

12. The range of the data 41,68,7,53,4,75,11,89,47 is

A 71

B.73

C. 85

D. 82

Answer:



https://dl.doubtnut.com/l/_lSFdHyJPtyUm
https://dl.doubtnut.com/l/_PxyJUdlu9kgq

I o Watch Video Solution

13. The mean and variance of 7 observations are 8 and 16

respectively . If five of the observations are 2,4,10,12,14, find

the remaining two observations.

A.6and 4

B.8and 4

C.8and 6

D.10 and 6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_PxyJUdlu9kgq
https://dl.doubtnut.com/l/_zm5HdN5ZZxUR
https://dl.doubtnut.com/l/_4nVL9RMhPQy8

14. Variance is independent of

A. origin only

B. scale only

C. origin and scale

D. neither origin nor scale

Answer:

o Watch Video Solution

15. If the S.D of 0,1,2,..9 is a, then the S.D of 10,11,12,.... 19 is

B. 10a



https://dl.doubtnut.com/l/_4nVL9RMhPQy8
https://dl.doubtnut.com/l/_Kq1Av9940yaI

C.c.a+10

D.a4/10

Answer:

o Watch Video Solution

16. The mode of the obeservations 3,5,1,79,1,12 is

A1l

B.3

C.7

D.12

Answer:



https://dl.doubtnut.com/l/_Kq1Av9940yaI
https://dl.doubtnut.com/l/_RRnuxqgcxNbQ

I o Watch Video Solution

17. The AM of 1,248 ... 2" is

2" -1
n

A.

2n+1_1
n+1
2" + 1
n
2" — 1
n—+1

B.

C.

D.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_RRnuxqgcxNbQ
https://dl.doubtnut.com/l/_Qg3wT8aJfAle

18. If a variable takes the values 0,1,2,

"C,, then AM is

C.n+1

|3

Answer:

... N with frequencies 1,

o Watch Video Solution

19. The GM of 2, 2%, 23

2
A 2w


https://dl.doubtnut.com/l/_syqKBSpRmlQl
https://dl.doubtnut.com/l/_mpaXKWMtSh3G

B.2%

C.22

n+1

D.2 2

Answer:

o Watch Video Solution

20. The mean mark in statistics of 100 students in a class
was 72. The mean mark of boys was 75 while their number
was 75. The mean mark of girls in the class was

A. 69

B. 63

C. 66


https://dl.doubtnut.com/l/_mpaXKWMtSh3G
https://dl.doubtnut.com/l/_QTQxWqNJXJ2B

D. 62

Answer:

o Watch Video Solution

21. The AM of the nnumbers z, xs...... T, is M. If z{ is

replaced by x then the new AM is

AM—z,+=x
M —
B. il
n
c (n—1)M -z, +x
' n
M —
D.n 1+
n
Answer:



https://dl.doubtnut.com/l/_QTQxWqNJXJ2B
https://dl.doubtnut.com/l/_GcMauf4uQKto

I & Watch Video Solution ]

22. The MD from the median for the observed values -1,0,4

N

o
w| ot w|

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GcMauf4uQKto
https://dl.doubtnut.com/l/_xqXIx7dZbQnp

23. If each observation of a raw data whose variance o2 is

multiplied by A, then the variance of the new set is

A. o2

B. \2o2

C.\+ o2

D.\% + o2

Answer:

o Watch Video Solution

24. If each observation of a new data where variance is o>

increased by A, then the variance of the new data is


https://dl.doubtnut.com/l/_2LdOXjSZnEfX
https://dl.doubtnut.com/l/_LVhkejrayiLb

B. \2o?2

C.\+ o2

D.\% + o2

Answer:

o Watch Video Solution

25. M.D for the observations a,a +d,a +2d, ....., a +2nd is

A.n(n+ 1)d

n(n + 1)d
2n +1
n(n + 1)d
C.——
2n


https://dl.doubtnut.com/l/_LVhkejrayiLb
https://dl.doubtnut.com/l/_cH0wLjg6kMlK

5 n(n — 1)d
" 2n+41

Answer:

o Watch Video Solution

26. The sum of squares of deviations of 10 observations

taken from the mean 50 is 250 The coefficient of variation is

A.50 %

B.10 %

C.40 %

D. 20 %

Answer:



https://dl.doubtnut.com/l/_cH0wLjg6kMlK
https://dl.doubtnut.com/l/_Nx1081b83Cod

I & Watch Video Solution ]

27. The median and S.D of a distribution are 20 and 4

respectively . If each item is increased by 2 , the new median

and new S.D will be

A. 204

B. 20,6

C.224

D. 22,6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Nx1081b83Cod
https://dl.doubtnut.com/l/_g9ligYqOO3TH

ar + b
c

28. If the S.D of a variate x is o , then the S.D of

where a ,b c are constants is

Answer:

o Watch Video Solution

29. If the S.D of zq, x5, x3, ....... . x, is 6, then the S.D of

— X1, — Ty eeuen.. , — &, IS


https://dl.doubtnut.com/l/_WUF91NlF9wzb
https://dl.doubtnut.com/l/_aa3SzZ7OPzyi

A.O

B.6

D.1

Answer:

o Watch Video Solution

30. The S.D for the set of the first 'n' natural numbers is

A n2 —1
' 4n
n2+1
B.
4n
n2 +1
C.



https://dl.doubtnut.com/l/_aa3SzZ7OPzyi
https://dl.doubtnut.com/l/_FwgsdzbJ0L4t

Answer:

o Watch Video Solution

31. The standard deviation of the numbers 31,32,33,

46,47 is

A. \/a2 + d?



https://dl.doubtnut.com/l/_FwgsdzbJ0L4t
https://dl.doubtnut.com/l/_D75tW62SyiNd

l & Watch Video Solution

32. The standard deviation of 3,7,11,15,19,23,27,31,35,39 is

A. /33

33

2

C.2,/33

D.4,/33

Answer:

o Watch Video Solution

33. The variance of the population of the observation

100,101,102,103,99 is


https://dl.doubtnut.com/l/_D75tW62SyiNd
https://dl.doubtnut.com/l/_8B0iyeXFkfjw
https://dl.doubtnut.com/l/_GAR9mAJThKH7

A. 101

B. 100

C.1

D.2

Answer:

o Watch Video Solution

34. The mean deviation of the first 19 natural numbers

about the median is

90



https://dl.doubtnut.com/l/_GAR9mAJThKH7
https://dl.doubtnut.com/l/_DU8lRhpINhNB

D.9

Answer:

o Watch Video Solution

Questions From Competitive Exams

1. The mean mark in Statistics of 100 students in a class was

72 The mean mark of boys was 75, while their number was

70. The mean mark of girls in the class was

A. 69

B. 60

C. 66


https://dl.doubtnut.com/l/_DU8lRhpINhNB
https://dl.doubtnut.com/l/_3jPCbOMjiqXn

D. 62

Answer:

o Watch Video Solution

2.If the mean of numbers 27 + z, 156 + « is 82, then the

mean of 130 +x,126+x,68+x,50+x,1+X is

A.79

B. 157

C.82

D. 80

Answer:



https://dl.doubtnut.com/l/_3jPCbOMjiqXn
https://dl.doubtnut.com/l/_sUp9VARhGvTV

I & Watch Video Solution ]

3. If pu us the mean of distribution {yi, fi}, then

Zf1(i1 — ) is equal to

A. MD
B.SD
C.0

D. relative frequency

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_sUp9VARhGvTV
https://dl.doubtnut.com/l/_GFAEdrkHlmT1

4, A batsman score runs in 10 innings

38,70,48,34,42,55,63,46,54 and 44. Then the mean deviation

from the median is .

A.8.6

B.64

C.10.6

D.9.6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_XYrQ0pri7iAX

5.The average weight of students in a class of 35 students

is 40 kgs . If the weight of the teacher be included , the

average rieses by 1/2 kg . The weight of the teacher is

A.40.5

B. 41

C. 40

D. 58

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7BpTNPsr4Zmw

6. Standard deviation of the first 2n+1 natural numbers is
equal to

n(n + 1)
2

. \/n(n +1)(2n + 1)

3
n( + 1)
3
n(n — 1)
2

D.

Answer:

o Watch Video Solution

7. Mean marks scored by the students of a class is 53. The

mean mark of the girls is 55 and the mean mark of the boys


https://dl.doubtnut.com/l/_ov05A4raSphX
https://dl.doubtnut.com/l/_nYR3KLt3REkR

is 50. What is the percentage of girls in the class?

A.60

B. 40

C.50

D. 45

Answer:

o Watch Video Solution

8. The average monthly salary of workers in a factory is
Rs.206 . If the average monthly salary of males females are
Rs. 210 and Rs. 190 respectively , the percentage of female

empolyed in the factory is


https://dl.doubtnut.com/l/_nYR3KLt3REkR
https://dl.doubtnut.com/l/_VGLANUoYj8Q7

A. 20

B. 50

C.30

D. 40

Answer:

o Watch Video Solution

0. For the arithmetic progression
a, (a +d), (a + 2d), (a + 3d), ...... , (a + 2nd), the mean

deviation from mean is

n(n + 1)d
 2n—1

n(n + 1)d
2n + 1


https://dl.doubtnut.com/l/_VGLANUoYj8Q7
https://dl.doubtnut.com/l/_HEOQJMrDoGWl

c n(n — 1)d

T 2n+1
+ 1)d

p, (nt1d

Answer:

o Watch Video Solution

10. The standard deviation of n obervations x4, 5.... ., z,

is 2.1f > " x; =20 and » % = 100, then n is
1=1 1=1

A.10 or 20
B.50r 10
C.50r 20

D.5o0r 15


https://dl.doubtnut.com/l/_HEOQJMrDoGWl
https://dl.doubtnut.com/l/_9Y6TDSVUe0dM

Answer:

o Watch Video Solution

1. The standard deviation of the numbers 31,32,33, ...

46,47 is

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_9Y6TDSVUe0dM
https://dl.doubtnut.com/l/_PzH0NH3TtAHu

12. The standard deviation for the scores 1,2,3,4,5,6, and 77

is 2. Then the standard deviation of 12,23,34,45,56,67 and 78

is

A.2

B.4

C.22

D. 1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ydKyOshDsxsJ

99
13. If the variance of 1,2,3,4,5 , .., 10 is T2’ then the

standard deviation of 3,6,9,12,....,30 is

A297
!

3
B. 5\/33

3
C.—
5 /%9

99

12

Answer: 44

o Watch Video Solution

14. |fn08 = nCQ, find nCQ.

An+1
2



https://dl.doubtnut.com/l/_GtrDDJEDoh8O
https://dl.doubtnut.com/l/_MHV72AwJDbwL

n—1

2" -1

2" 4+1

Answer:

o Watch Video Solution

15. The arithmetic mean of 7 consecutive integers starting

with 'a' is m. Then the arithmetic mean of 11 consecutive
integers starting with 'a+2'is

A. 2a

B.2m

C.a+4


https://dl.doubtnut.com/l/_MHV72AwJDbwL
https://dl.doubtnut.com/l/_vzg60ZGM37FA

D. m+4

Answer:

o Watch Video Solution

16. The mean and variance of n observations

X1, g, T3, ...T, are 5 and O respectively.

n
If Z z? = 400, then the value of n is equal to
i=1

A. 80
B. 25
C. 20

D.16


https://dl.doubtnut.com/l/_vzg60ZGM37FA
https://dl.doubtnut.com/l/_W8ZFrZYxgJuZ

Answer:

o Watch Video Solution

17. If the standard deviation of 3,8,6,10,12,9,11,10,12,7 is 2.71,
then the standard deviation of 30,
80,60,100,120,90,110,100,120, 70 is

A. 2.71

B. 27.

C.(2.71),/10

D. (2.71)4/2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_W8ZFrZYxgJuZ
https://dl.doubtnut.com/l/_X7fHjHAM0uBc

18. The AM of 9 terms is 15. If one more term is added to

this series , then the AM becomes 16. .The value of the

added term is

A.30

B. 27

C.25

D. 23

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_X7fHjHAM0uBc
https://dl.doubtnut.com/l/_oysvVh7Lcb7o

19. If the average of the numbers 1,2,3,.., 98,99,x is 100x,

then the value of x is

A 51
" 100

. 50
" 99

Answer:

o Watch Video Solution

_ T T T x :
20. If the median of =T o g(a: > 0) is 8, then the

value of x is


https://dl.doubtnut.com/l/_OlGcuqDOfylP
https://dl.doubtnut.com/l/_iDkWviv5ZWrE

A. 24

B. 32

C.8

D. 16

Answer:

o Watch Video Solution

21. The mean of five numbers is O and their variance is 2. If

three of those numbers are - 1,1 and 2 , then the other two

numbers are

A.—5 and 3

B.—4 and 2


https://dl.doubtnut.com/l/_iDkWviv5ZWrE
https://dl.doubtnut.com/l/_rUWNWhwVn49V

C.—3and —1

D.—2 and 0

Answer:

o Watch Video Solution

22. A batsman in his 16 innings makes a score of 70 runs
and thereby increases his average by 2 runs . If he had
never been not out , then his average after 16" innings is
A.36
B. 38

C.40

D.42


https://dl.doubtnut.com/l/_rUWNWhwVn49V
https://dl.doubtnut.com/l/_wIT16YA2P1nq

Answer:

o Watch Video Solution

23. If the variance of 1,2,34,5,...., x is 10, then the value of x is

A.9

B.13

C.12

D.10

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wIT16YA2P1nq
https://dl.doubtnut.com/l/_T69PvBtqBHIx

24. Mean of 10 observations is 50 and their standard

deviation is 10 If each observation is subtracted by 5 and

then divided by 4, then the new mean and standard

deviation are

A.225,2.5

B.11.25,2.5

C.11.5,2.5

D.11,2.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JS2z1uQXxOqV

9 9
25. If Z (z; —5) =9 and Z (z; — 5)° = 45, then the
i—1 i—1

standard deviation of the 9 items z1, o, ...... , g IS

A.9
B.4
C.3

D.2

Answer:

o Watch Video Solution

26. The standard deviation of 9,16,23,30,37,44,51 is

A7


https://dl.doubtnut.com/l/_9o8LVCgywTzg
https://dl.doubtnut.com/l/_HkeIhun0DKqH

B.9

C.12

D.14

Answer:

° Watch Video Solution

27. In a class of 100 students there are 70 boys whose
average marks in a subject are 75. If the average marks of
the complete class is 72, then what is the average of the

girls?

A.73

B. 65


https://dl.doubtnut.com/l/_HkeIhun0DKqH
https://dl.doubtnut.com/l/_OGACpoGZUCFx

C. 68

D.74

Answer:

o Watch Video Solution

28.In an experiment with 15 observation on x, the following
results were available. Zm2 = 2830, Zm = 170 One
observation 20 was found to be wrong and was replaced by
the correct value 30. Then the corrected variance is

A. 188.66

B.177.33

C. 833


https://dl.doubtnut.com/l/_OGACpoGZUCFx
https://dl.doubtnut.com/l/_WE85CenFn9su

D.78

Answer:

o Watch Video Solution

29. The median of a set of a set of 9 distinct observations is

20.5 . If each of the largest 4 observations of the set

increased by 2, then the median of the new set

A.is decreased by 2

B. is two times the original median

C. remains the same as that of the original set

D. is increased by 2


https://dl.doubtnut.com/l/_WE85CenFn9su
https://dl.doubtnut.com/l/_6JQPk8sL7r03

Answer:

o Watch Video Solution

30. Consider the following statements.

(i) Mode can be computed from histogram

(ii) Median is not independent of change of scale

(iii) Variance is independent of change of origin and scale.

Which of these is/are correct ?

A. only (i) and (ii)

B. only (ii)

C.only (i)

D. (i),(i1) and (iii)


https://dl.doubtnut.com/l/_6JQPk8sL7r03
https://dl.doubtnut.com/l/_PbdZKiBknXbm

Answer:

o Watch Video Solution

31.In a series of 2n observations , half of them equal a and
remaining half equal - a . If the standard deviation of the

observations is 2, then |a| equals

0N w
3| §I

O
3|

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_PbdZKiBknXbm
https://dl.doubtnut.com/l/_xsAqTudPGxJU

32.1n a frequency distribution , the mean and median are 21

and 22 respectively, then its mode is approximately

A.20.5

B. 22

C.24

D.25.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_xsAqTudPGxJU
https://dl.doubtnut.com/l/_UjXSR0NBm9Q8

33. Let z,x9,.....2,, be n observations such that
2 o . . .
Za:i = 400 and Zw, = 80. Then a possible value if n
among the following is
A.18
B.15

C.12

D.9

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_IpeGkNEKxnbo

34. Suppose a population A has 100 observations
101,02,....,200, and another population B has 100
observations 151,152,...,250. If V4 and Vg represent the

: : : Va .
variances of the populations respectively, then v is
B

>

@

Wl ok o

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ugO6kdUxQ03V

35. The average marks of boys in a class is 52 and that of

girls is 42. The average marks of boys and girls combined is

50 .The percentage of boys in the class is

A. 80

B. 60

C. 40

D. 20

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_PX13880yVBAl

36. The mean of the numbers a,b,8,5,10 is 6 and the variance

is 6.80 .Then which one of the following gives possible

values of a and b?

A. a=3,b=4

B. a=0,b=7

C. a=5,b=2

D. a=1,b=6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_qi4b27eFZNHF

37. If the mean deviation of number 1,1+d, 1+2d,..., 1+100d

from their mean is 255, then d is equal to

A. 20

B.10.1

C.20.2

D.10

Answer:

o Watch Video Solution

38. For two data sets , each of size 5, the variances are given

to be 4 and 5 and the correcponding means are given to be


https://dl.doubtnut.com/l/_x5z8WMDF0tJN
https://dl.doubtnut.com/l/_zwZuDvv8yoRR

2 and 4, respectively . The variance of the combined data

set is

Answer:

o Watch Video Solution

39. If the mean deviation about the median of the numbers

a, 2a,....., 50a is 50, then |a| equals

A4


https://dl.doubtnut.com/l/_zwZuDvv8yoRR
https://dl.doubtnut.com/l/_6GkXTWX2KopW

B.5

C.2

D.3

Answer:

o Watch Video Solution

40. Let x;,x9,.....x, be n observations such that
Zm? = 400 and sz = 80. Then a possible value if n

among the following is

A. Statement (i) is true , Statement (ii) is true

’

Statement (ii) is not a correct explanation for

Statement (i).


https://dl.doubtnut.com/l/_6GkXTWX2KopW
https://dl.doubtnut.com/l/_f0rVvEm5nvHr

B. Statement (i) is true , Statement (ii) is false.

C. Statement (i) is false , Statement (ii) is true.

D. Statement (i) true ,Statement (ii) is true , Statement

(ii) is a correct explanation for Statement (i)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_f0rVvEm5nvHr

